1.)

create table terdeklodes 

(eloadas integer not null,

resztvevo integer not null,

constraint pk_terdeklodes primary key (eloadas, resztvevo),

constraint fk_terdeklodes_eloadas foreign key (eloadas) 

references teloadas (eloadas),

constraint fk_terdeklodes_resztvevo foreign key (resztvevo) 

references tresztvevo(resztvevo));

2.)

select r.nev

from tresztvevo r, tszallas s

where r.szallas=s.szallas and

s.epulet = 'a' and 

s.szobaszam like '3%'

order by r.nev;

3,

select distinct eloadas, count(2) as db

from terdeklodes

group by eloadas;

select distinct eloadas, count(2) as db

from terdeklodes

group by eloadas

having count(2)>=2;

4,

select szuldat

from tresztvevo

where szuldat in( select max(r.szuldat)

                  from tresztvevo r, tszallas s

                  where r.szallas=s.szallas and

                  s.epulet='b' and

                  r.ferfi_e=1 and 

                  r.varos='');

5,

update tresztvevo set ferfi_e=2

where varos='Gyor';

6.

delete from tszallas

where szallas not in (select szallas from tresztvevo);

